LINE VOLTAGE | WALL LIGHT | A-NK4

Replacement Parts

ITEM DESCRIPTION CATALOG #
1-3 Mounting Kit, A-NK4 MKNK4
4 Wire Harness, 18 AWG -
5 Screw, 8-32 x 34" 250011950000
6 External Lock Washer, #8, SST 250025940000
7 Housing, A-NK4 -
8 Connector 250026180000
9 Housing, A-NK4 -
10 Heat Sink -
11-14 LED Board Assembly -
15 Screw, 8-32 x 34" 250011950000
16 Seal, Screw Boss
17 Gasket, Housing -
18 Diffuser -
19 Lens -
20 Gasket, Faceplate -
21 Faceplate, A-NK4 -
22 Screw, 6-32 x 18" LG, SST -

FXLuminaire | +1760-591-7383 fxl.com

FXLIT-027 5/20



